LABJNDu2 standard lightnessI*
I* Ync YW nc_loox

I* L ABINDU2 =IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,()
* L ABINDU2=IN(A 10+ A2)/(AgyAon) - (X=YTYy)
I* (3,6)=39L ) (18) 890.°(00)-1385

log[I* /I* ,]=0, m,=0,

L* =49, I =890

1
I* 9=1385,40, A= IB666, A,=0,0876, ¢=0,84
1*15=889,89, A,~( |§14, A0
I*5,6=391,38/%,~¢ | ¢89 =18 !

: 15,=1
wXy=0,2  xy=5

application
range

LABJINDu2
tristimulus value difference
Yoc=Yw - nc=100,
I* LABINDU2 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,c)
I LABINDU2=IN(A 10+ A2)/(A2uPon) - (X=YTYy)
AY=Agn(A1r+AsnY)=Agn(A1+AzX), See CIE 230:2019
dYg5=0,30, Ay,=0,6666, A,=0,0876, ¢=0,84
dY;4=0,06, A,=0,014, A,=0,0048
dY3 60,02 Y,=18, dY=0,06 -
P/

1*,=890, dY,=0,06 dY,/Y,=0,0037
ey

log AY1Y) LABJINDuU2
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,
I* LABINDU2=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
I LABINDU2=IN(A 10+ A2 (A2uAon) - (X=YTYy)
AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y}+=0,0033, A,=0,6666, A,=0,0876, ¢=0,84
(dY/Y}5-0,0037, A,=0,014, A,=0,0048
(dY/Y} 60,7058 Y, =18, dY=0,06

application
range

-5
I* =890 dY,=0,06 dY,/Y,=0,00371
I)h:l
Xw=5

XxN=0,2

log (Y/AY)
C,=(Y/AY)

LABJINDu2

tristimulus value contrast
Yoc=Yw - nc=100,

I* LABINDU2 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
I LABINDU2=IN(A 10+ A2 (A2uAon) - (X=YTYy)
YIAY=Y/[A (A 1ntA2n V)X Y/ [Aon(A1n+AuX)]

1¥,=890, dY,=0,06 Y,/dY,=264
log(Y/dY)=2,42, mu=o 13- ==
(Y/dY3o=298,37 , Ay=0,6666, Al=0,0876,4=0 8

(Y/dY)g=26".,76, A=0,014, A L0 004%3# gaﬂon
(Y/dY) < 169,70 Y,=18, dY=0, o:a

xN=0,2 |><W—5

LABJINDu? relative standard lightnessl*/I*
1%/1% u Ync‘YW nc_loox

1%L ABINDU2 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,c)
11 ABINDU2 =IN(A 10+ A2 (A2 Aon) - (X=YTYY)
I y(3,6)=391L I ,(18)=890 [* y(90)=1385

I* ogfl* =1,55, Ay=0,6666, A,=0,0876, ¢=0,84

I¢ g/l =1,00, A y=0.014, A,=0,0048

I*5 I*,=0,43,,=889,89 Y~18

log[i*/I* ]=0, m,=0,33

L* =49, I* =890
application
range

X,=1
Xw=5

[ 2xn=0,2

log(A Y/AY i)
AYIAY,

LABJNDuU2 relative
tristimulus value difference
Yne=Yw nc=100,
I* L aBINDU2 =IN(A 17 +ARY)/(AnAon)  (Ynd/100<Y<=Yo)
I* L aBINDU2 =IN(A 10+ A2)/(A2uPon)  (X=YTYY)
dY/dY =(A1tAX)/(A1+AY)
dYoy/dY,=4,43, Ay=0,6666, ,=0,0876, ¢=0,84
dY;g/dY,=1,00, A=0,014, A;=0,0048 5
dY;,¢dY,=0,31 Y,=18, dY=0,06 -
/
I*,=890 dY,=0,06 dY,/Y,=0, 0037

log [(AY/Y) I (AYIY)] LABJINDu? relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

I* L ABINDU2 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
1L ABINDU2 =IN(A 10+ A2 (A2 Pon) - (X=YTYY)
(@Y/YY(AYIV)=Z[(A 1+ A X)X (A 17 +A)
(dY/Ybg/(dY1.1=0,88, Ay=0,6666, A,=0,0876, ¢=0,84
(dY/Y)g/(dY/Y)=1.00, A =0,014, A-=0,0048
(@Y d(dYIYV)=1, 2R Y218, dY=0,06
log[(dY/YY(dY/Y)J=0, m=-0,13 ¥
I*,=890 dY,=0,06 d¥,/¥,=0,0037
I)‘le
Xw=5

application
rang

XN=0,2
log [(Y/AY) I (YIAY),] LABJINDu?2 relative
CICy=(YIAY)(YIAY), El(snn;t\;\l/us vaIEe contrast

=100,

I* L aBINDU2 =IN(A 10 +A2RY)/(A2nAon)  (Ynd/100<Y<=Yoo)
1%L ABINDU2 =IN(A 10+ A2 (A2 Pon) - (X=YTYY)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)g/(Y/dY)=1,12, A,=0,6666, A,=0,0876, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A1=0,014, A-=0,0048
(YIdYY g(Y/dY)=0,64 Y, =18, dY=0,06

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range




